

!

+

أوجد ناتج الجمع أو الطرح.



$$\left(\frac{11}{18} - \frac{4}{9}\right) + \frac{1}{6}$$

$$\left(\frac{\square}{\square} - \frac{\square}{\square}\right) + \frac{1}{6}$$

$$\frac{\square}{\square} + \frac{1}{6}$$

$$\frac{\square}{\square} + \frac{\square}{\square} = \frac{\square}{\square} = \frac{\square}{\square}$$

$$\frac{13}{14} - \left(\frac{1}{2} + \frac{2}{7}\right)$$

$$\frac{13}{14} - \left(\frac{\square}{\square} + \frac{\square}{\square}\right)$$

$$\frac{13}{14} - \frac{\square}{\square} = \frac{\square}{\square} = \frac{\square}{\square}$$

